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) 8x+12y =
) 4p—20q =
) 3a+15b—12 =
IV) —12x+4y =

V) 7m—6nm? =
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i) UGS A @6l UJLILIeTen6aIS HTeulH?
i) uGH B @& ugliLeTeneus SHremics?
iii) uGH C @6t LFLILETENEISH BHTEmISH?
iv) uGH D @eir upliLeTeneudh HT6wIH?

V) Ouiw Ggeususondw PORS @6 upliLeTeneld HTewids?




03. Ueiteumpld I_Froheaniihrs Cosmeneuselen STyenioameud Hrews?

i) ax+ay+3x+ 3y = vi) bx—=b—x+1=

ii) ax —8a+3x — 24 = vii) a® +7a—2a—14 =
iii) x2+4x—-3x—-12 = viii) ak + al — bk — bl =
iv) m?—6m—2m+12 = iX) yp —yq—mp +mq =
V) 7+7x+y—xy= X) 3x + 6y + kx + 2ky =

04. QmLISCHTEmeUD6TET HTT6wNBM6TSH HTEHISH ?

i) x2+9x+18 = i) a?+10a+ 24 =
i)  b2—8b+15= iv) m? —12m + 20 =
iii) a’?+a—12 = vi) p? + 6p — 16 =

iv) x2—-x—-12= viii) > —3r — 10 =

V) Y2 +6y+9 = x) 4+ 4x +x% =




05. QeI uFSHMIG6MET MHHWTFHI HMTCRNBN6TD HTEWID ?

i) x?—4=
ii) p?—81=
iy 9—y?=
iv) x? —4y? =

V) 100x2 -1 =

Vi) 25a?b? — 9¢? =

vii)  8x%2-50=

viii)  3-—12¢% =

IX) s opfenall UWSTLUGSHIS CUBIOTEID HTewTH?
232 -3%2=
452 — 52 =
1022 — 22 =
332 -17% =

542 — 42 =




